| N of simulated tracks vs dxy |

TrackingParticles

Ratio

=
o
o1

=
o
>

10°

S
S
= L

%990 -15 -10

I AIIIIII|T|

A
-5 0 5 10 15 20
TP dxy (cm)

N of associated tracks (simToReco) vs dxy |

Reconstructed TPs

[
o
w

=
o
S}

10

T

=
!
'

0955~ 15-10 -5

10 15 20
TP dxy (cm)

—original—1000evt

it_nocpe _1000evt

TrackingParticles

Ratio

—a— DOM
—e— DOM™0

N of simulated track —— BQMfitted4_T000ev(
—.— DOM

10*

10°

10?

10

1.U0

—f
—fit_ cpeOK” 1000evt

T—original_originaivector_1000evl

C ; . [92]
: : : a
i ; 5 : H
: : : o]
S b b T )
= : wiug : 5]
: A S 107
I o L @
. . c
o : " : (@]
;o= : (&]
S - S S S )
: - tr
[ : : 10E:
s @
AR SOPRN o (SOUPR S N R
; E % 4
R R B
R R AL
t ++ : i + =10 gL S
EIIII:IIII!IIII:IIII!IIII:IIII O J..UO:E:I:I I;
[
[l =
P

™0 20 -10 0 10 20 30

TP dz (cm)

0953520 -10

10

20 30
TP dz (cm)



	Contents
	Page 1


